Crel 23t o7}
|_I-'EI od O /
1. Al 3t A, B, C of Histo] 6. o= F 2 A& 25 2k
A = {z|z+= good friends o] Fopal 243} |
B = {z|z & 4 o] 70]5}9149] Hj S} @ A={1, 2, 3}°l¥ n(4) =3
C = {zl]z & EAY 127} & o,
- ™ -
n(A) +n(C) — n(B) & F5ofat, © C={0} A n(C) =0
© Ac BoJd n(A) <n(B)
® n(A)=n(B) °|# A=B
@ n({1, 2, 3, 4}) = n({1, 2, 3}) = {4}
2. AAo|7} AF= olutEo| = ZskAlo] = 30 Qltt
RO ol Holol o] FE AR olBete
4, olFEATE 7} U F 77} akaise] gk,
=0 7} SAFE oI $IHE AP 159, 1t AUE
olgat S 10, F AU S BT o] gk e
7gol2tal gt EQ Yof o] F % 1{%—% o]-&st] e
SPAl 22 Latela) 7. o= J FolA Febdgto] ofd AS BF A5HH?
O {z | 2= A Fitol 18] 2
@ {z |z 3BT 22 39] vj4=}
3. FAT A= o | sk FANN &S} B fo| O 12w
= 100 0150 214} o] TFPAZ 7|52 HA 1 @ {2]2<x <59 A%
Ehujoet,
® {z|r=4n-5, nAAF
4. AT A B UEld AcB, BcAolth A=| 8 HAF A= {r |2 1380t 22 &5} 91, 3 &4
(o]a 129 95} & W, BF B o] 940 AES | EA EFSHIL 0 & A b FEYT F U4
totoiet, A7t 4 Q1 A2 R AR F5hofet
5. AAH} U o F FEHF A, Bl st n(U) =
30,n(B) = 15,n(BNA°) = 7,n(A) = 13 & o,
n (AN B°) & Fstolzt,




9. U {z|-5 <z <5
{71> Oa 1}; B
AN Be 9] Y49

=g 1)

{z|ze 6

?:}-Ea

® -5 @ -4 ®0

Tafolat,

, (AN B)°
], a+b 2 G2

@ 4

73}
o] o) o

A

— 4 9

® 5

gatof
Aol

11. 5 A3 4
(b—5, b—4, b—
o, Ac B°o|1I B

stoqet,

{x||x|<a
3,b—2, b—
BcAY T, %

re A%

1, b, b+1} o dis}

45 a,b ©

B

e 7

12. 8% N = {z |z 1000]5t9] 24} o] BRYS}
Ap = {z | 2= n9 ¥} o Histo] b2 & &2 A=
R
Q@ Ay C Ay
© A3 C Ay = Ars
© A4UAg C Ay
@ (A2NA3)U(A3NAy) = A
@ n(Ay) > n(Ay)
® Az — Ay = Az — Ay

A, B o Hste]
B) o 2tz

13.n(U) =50 Q1 AAHT
n(A) = 32, n(B) = 44
F|aghe 247 F-stolzt

i

[¢]

1L Plz] = {—z+ 1,0,z — 1}
A Pla] = {1, z, 22} o|¢taL A oJ3tct,
{z|lz= 27 AA} , B

t} 4 o, J3t (A-B)[2]U(B—A)[8]




15.718 5 €7 ghe AL?

® A={z|ze99 1L wf, n(A) =3

@ AcBolHn(ANB)=n(B)

® n({2, 3, 5}) —n ({10, 11, 12}) =0
@ A

= {1, 2, 4}, B = {Jj
v suTh e AQH} W, & o€ A ofH
x € B o]t}

|
® oe{o}




